(R vA=4Y ] 1R 2R 3R 57 67 87 98 At

1 REEZRL 100 100 100 30 20 350
2 R 50 40 50 50 40 40 270
3 HREARHR 100 100 16 50 266
4 2 blRE 16 30 40 40 50 12 30 218
5 L= sE 100 100
5 EAER 100 100
7 MR 30 40 70
7 ®)IER 50 20 70
9 AGRHEERE 50 12 1 63
10 EEE— 40 1 20 61
10 )52 A 12 20 16 3 8 1 1 61
12 2JI1E8A 12 5 30 5 5 57
13 ER MK 20 20 8 1 49
14 ATHE 8 16 16 43
15 S E 30 38
16 thigzehs 30 30
17 Z@—=% 20 20
18 ENERL 16 16
18 JTARN 16 16
20 R 5 8 1 14
21 AR 1 12 13
21 & T KM 12 1 13
21 AIBIER] 12 1 13
24 2B 3 5 1 1 10
25 RKHEEAHR 8 1 9
26 ERERC 8 8
271 RKiEEE 5 1 7
28 WIATFR 3 1 1 5
28 &E)ILF— 3 1 1 5
28 TTHMR A 5
31 B FIE 1 3 4
32 LIk 1 1 3
32 RIIERE 1 1 1 3
32 YeHEHH A 3 3
35 BIHE—BA 1 1 2
35 BEIRALA 1 1 2



35 FIHZESE 1 1
3b MREEE 1 1

39 Btk 1

39 PIHETH 1

39 KIRES 1

39 MRTE = 1

39 BAEE 1

39 AEEF 1

39 LIAENX 1

39 WLAHE— 1

39 IUARETF 1

39 WAREZ 1

39 mAHEE 1

39 Bkiats 1
39 MBEZ 1

39 7k E1ERER 1

39 BEERX 1

39 EARE 1

39 Hit= 1

39 FFOMIK 1

39 BE&A 1
39 #pAIE 1
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